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R03.3310K) | E—HFE 0.05 0.06 i 19.3 26 it 4.3

10:00~10:15 | IE & 3% REAT

R03.3240K) | E—HF2Z 0.05 0.06 & 15.0 44 [l 22

10:00~10:15 | IE @& 3% R AT

R03.3.170K) | B—H'T& 0.05 0.06 {5 15.1 31 it 4.8

10:00~10:15 | IE @& 3% BEAT

R03.3.100K) | E—HF2Z 0.05 0.06 & 15.1 32 it 5.6

10:00~10:15 | 1E E 3% B AT

R03.3.3(K) | EB—HTFE 0.05 0.07 i 75 34 it 5.2

10:00~10:15 | 1E E 3% B AT

R03224(K) |E—HF&| 005 0.06 5 7.0 31 i 4.6

10:00~10:15 | 1E E 3% B AT

R03.2.170K) | B—HT& 0.05 0.06 i} 121 27 [ 3.1

10:00~10:15 | 1E E 3% B AT

RO3230K) | E—5H & | 006 0.06 3 8.4 36 i 17

10:00~10:15 | 1E E 3% B AT

R032.100K) |E—HSF&| 006 0.06 5 8.2 29 | BEALEE 2.5

10:00~10:15 | 1E E 3% B AT

RO3230K) | E—5H & | 006 0.06 3 8.4 36 i 17

10:00~10:15 | 1E E 3% B AT

RO31270K) |ZE—HF&| 006 0.06 B 106 70 i 0.7

10:00~10:15 | 1E E 3% B AT

R03.1.20K) | E—H P& 0.06 0.07 i 5.1 34 b | o’} 2.6

10:00~10:15 | 1E E 3% B AT

R03.1.13K) | E—H 2 0.06 0.07 i 8.4 50 izl | o’} 1.4

10:00~10:15 | 1E E 3% B AT

RO316(K) |&E—SFZ| 006 0.06 & 5.6 69 | Jtd® | 33

10:00~10:15 | 1E E 3% B AT

R02.12230K) | E—H & 0.05 0.06 i 9.5 41 7 1.8

10:00~10:15 | 1E E 3% B AT

R0212160K) | E—HF&| 005 0.06 W& 1.7 28 i 14

10:00~10:15 | 1E E 3% B AT

RO212.90K) | 2E—HF& | 006 0.06 g 108 54 | dLdtR 10

10:00~10:15 | 1E E 3% B AT

R02.1220K) | E—HFZ 0.06 0.06 = 9.5 59 it 3.1

10:00~10:15 | 1E E 3% B AT

R02.11.25(K) | E— 5 TFE 0.06 0.07 R 9.8 90 || o] 3.1

10:00~10:15 | 1E E 3% B AT

RO2.11.180K) | E— 2T & 0.06 0.07 B 17.9 56 Bl i 1.8

10:00~10:15 | 1E E 3% B AT

RO21111GK) | E—nFE 0.06 0.06 & 145 34 it 55

10:00~10:15 | 1E E 3% B AT

R02.11.40K) | EB—9 T2 0.05 0.07 [ 16.1 33 B[ | i 1.8

10:00~10:15 | 1E 3% B AT




R02.10.28(K) | B— ' IT& 0.05 0.06 =) 18.6 60 dtidtE 0.5
10:00~10:15 | 1F @ BRI
R02.10.21(K) | B— ' TE 0.05 0.06 {5 18.8 55 dtdtE® 18
10:00~10:15 | 1F @ BRI
R02.10.14(K) | B— TS 0.06 0.06 {5 224 60 BILE 22
10:00~10:15 | 1F @ BRI
R0210.70K) | E—0F= 0.06 0.06 £ 22.6 46 dtidtE 2.6
10:00~10:15 | 1F @ BRI
R02.9.300K) | E—HATE 0.05 0.06 {5 21.9 51 it 3.4
10:00~10:15 | 1F @ BRI
R02.9.23(K) | E—HTE 0.05 0.06 2 21.3 85 P[] 42
10:00~10:15 | 1F @ BRI
R02.9.16(K) | E—HTE 0.05 0.06 =) 24.9 70 dtidtE 15
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R029.90K) |E—5FZ| 006 0.07 5 33.9 42 | mEH | 14
10:00~10:15 | 1F @ BRI
R02.9.20K) |&HE—HTS 0.06 0.06 {5 28.6 80 it 2.0
10:00~10:15 | 1F @ BRI
R02.8.26(K) | E—HTE 0.05 0.07 [ 31.9 58 dtdtE 1.1
10:00~10:15 | IE E XA
R028.19(K) | E—HTE 0.05 0.06 {5 31.3 63 B 1.8
10:00~10:15 | IE E XA
R028120K) | E—#AF&| 005 0.06 5 36.1 54 | WALE | 21
10:00~10:15 | IE E XA
R02850k) |E—#"F&| 006 0.06 [ 320 64 | mm=m | 15
10:00~10:15 | IE E XA
R02.7.290K) | E—HF< 0.06 0.07 =2 23.8 85 BHiLE 2.1
10:00~10:15 | IE E XA
R027.220Kk) | E—5F&| 006 0.07 ) 28.9 79 RER | 24
10:00~10:15 | IE E XA
R02.7.15(K) | E—HTE 0.05 0.06 5] 21.9 95 it 0.3
10:00~10:15 | IE E %A1
R02.7.80K) |&HE—HT& 0.05 0.06 5] 28.4 78 3] 3.2
10:00~10:15 | IE E %A1
R02.7.10K) | E—HT& 0.05 0.06 5] 25.6 87 5] 4.3
10:00~10:15 | IE E %A1
R02.6.240K) |E—5F&| 005 0.07 = 232 78 | RALE | 38
10:00~10:15 | IE E %A1
R02.6.170K) | §— 2T & 0.06 0.06 i 275 40 RER 1.5
10:00~10:15 | IE E %R
R02.6.100K) | E—HFZ 0.06 0.06 i 30.0 44 3] 3.0
10:00~10:15 | IE E %R
RO2630K) |®E—HF&| 005 0.06 B 26.8 57 R 11
10:00~10:15 | 1F E %A1
R025270K) | 28— 0 & 0.05 0.06 5 22.8 71 (A3 22
10:00~10:15 | 1F E %A1
R02.5.200K) | E—H & 0.05 0.07 = 13.6 74 Bl el ] 3.2
10:00~10:15 | 1F E %A1
R025130K) | E—HFE 0.05 0.06 & 27.2 45 JtitE® 1.0
10:00~10:15 | 1F E %A1
R02.4.22(K) | B— A& 0.06 0.06 [ 175 53 it 1.8
10:00~10:15 | 1F E %A1
R02.4.150K) | E—nTE 0.06 0.06 {5 171 30 [FZE 1.2
10:00~10:15 | 1F E %A1
R02.48(K) | B —nTE 0.06 0.06 {5 16.4 50 RiLE 1.7
10:00~10:15 | 1F B %A1
R02.4.10K) |&HE—HTS 0.06 0.06 5§] 11.6 92 it 2.1
10:00~10:15 | 1F E BRIl




